AP Police Constables Preliminary Written Test - 2018
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[nstructions :
(i) Each question carrics one mark.
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1. Choose the grammatically correct sentence.’ |

(1) Anafraid soldier is a silent spectace

(2) A soldier afraid is a silent spectac]e

(3) A soldier who is afraid is a silent spectacle

(4) A soldier who is afraided is a silent spectacle

2. Choose the grammatically correct sentence.
(1) Ironisuseful than any metal

(2) Iron is more useful than any other metal
(3) The iron is more useful than any metals
(4) No metals is useful'than the iron

3.  Choose the grammatically correct sentence.
(1) In the first year of school, pupils are taught to recite the alphabet

(2) In the first year of school, peoples are taught to recite the alphabet
(3) In the first year of school, pupils are taught to recite the alphabets
(4) In the first year of school, pupils are taught to recited the alphabet

4. Choose the meaning of the underlined phrase/idiom.

John had butterflies in his stomach before he delivered the talk
(1) to feel excited . (2)  to feel exhausted

3) to feel impatient (4) to feel nervous

5 . Choose the meaning of the underiinﬁ_:d'Ithﬂs_e*’ idiom.
~ Many politicians try t_qf_ishmtr____ﬂll.-——--lf’lmm S
- (1), to make use of river water disputes .(2) to take advantage of a troubled sifua!t°
'(3):  to take advantages of mﬂneyJ___flﬂ create‘trﬂuble g
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herapy

Choose the meaning of the un :
; blazed ! Lﬁi‘-l for new kinds of gene !
(2) followed the old

The young scientist’s rescarch
(1) found anew path .
' : . , cxpenditure -
3) & s findings "~ (4) incrcased the
(3) announcc findings - . o

pﬂlh

Choose the appropriate phrasal verDb ]
aficr @ prolonged illness
: ? (4) passedon

The former prime minister
(1) passed off (2) passed nto (3) passcdaway 1 —

s

Chaose the appropriate phrasal verb
The business wa nt of heavy losses. . '
€SS Was on accou Y (4) kicked off
ST,

(I} pulledup (2) closed down (3) pul]cd off

Choose the appropriate phrasal verb |
The society looks the losers S
(3) downupon (4) look afters

T —

10.

| (4) The president’s arrival should be announced to the walit

(1} upto (2) into

Choose the correct passive forms of the sentence. _
Someone will announce the president’s arrival to the walting jﬂumf'llISTS-
(1) The president will announce the arrival to the waiting Journalists
(2) The president’s arrival will announce to the waiting Journalists

(3) The president’s arrival will beannounced to the waiting J Dumalistg
ing Journalists

I

Choose the correct passive form of the sentence.

They saw the monkey climbing over the fence.
(1) The monkey was seen climbing over the fence

(2) The monkey is seen climbing over the fence

(3) The monkey saw climbing over the fence
(4) The monkey has seen climbing over the fence

12.
. By the time I picked up the pl

he verb.
hone, they
(2) hadrung

Choose the correct form of tl

off .
- (3) hadrninged - (4) hasrang

13,

CIfL
- (1) .will press

(1).- hadrang

Choose the correct form of the verb.
this button, will it start to record my voice?

(2) hadpressed (3) press (4) be pressed

14.
. ‘atthe

: _.-Chqt}se t

1e correct order of the given jumbled sentence.
1bus stop /I met Ravi/and saw him/ at a party / a couple of days later
B2 AT 35Oy 0.501.3 4 (3) 4:2,5,3,1 (4)« 2,4,3,5,1

| ﬁ(.l)__ :
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. 15 Choose the correct order of the o
/ the bus complex / tel] him

The way to/whether T could / t}q

1 y Stralggﬁr sked 1M 4 5
() 3:2,5:1% 1(2) L, 4] 59500 ) 3,5241  (4)3,2,1,4 5
s T ——

16. Choosc the correct order of the
a new bus service / the local reg
! 2
from their village

Jimbleq gopicnce:
ldentg /o inilﬂduﬂc

3

J welcomed the decision /
4

(l) l’ 5"' 3’ 4’2 (2) .-2? 1: 5.-. 3:4 (3) 2: 4:' 1?3"5 (4) 2’ 4? 3! 155

Read the following passage and answer t _ to 21 Questions) P
Two hundred years after Malthus predicted}:lelac%uesmfnég ;rnwth would overtake food production
by a margin of 256 to 9, the simple fact 1S thftuf . 3 pmductian had always been ahead of the
population growth. Malthus doomsday predic; Dﬂgimply did mot come true due to two major
reasons: first, population did not grow geﬂme[rigily and birthates in all western countries fe]j
during 20th century, resulting in very slow population growth. Over the past quarter century
birth rates have been falling in the develnpiﬁg countries too. Second, modern Bgriculturai
practices and better irrigation have resulted i tyemendous growth in food production in almost
all parts of the globe, with notable exception of Sub-Saharan Africa. Therefore, at the global
level, the Malthusian doomsday never befell o ys.

[ndia’s population grew by about two and a half times in the past 45 years from 361 million in 1951
to an estimated 916 million in 1995. But during the same period, India’s food grain production
grew by nearly four times from 51 million tonnes in 1951 to 191 million tonnes in 1995,

[7. The prediction of Malthus did not come true because
a) population did not grow geometrically
b) food production increased tremendously
c) populationincreased considerably
d)  Agriculture became very profitable

(1) aandb (2) a - (3) candd (4) aandd
18. What was India’s food grain production in 19517
" (1)-.191 million tonnes (2) 51 million tonnes

(3). 361 million tonnes (4) Not specified

_.1:9. In the developing countries the birth rate is
(1) increasing (2) static . () falling (4) not specified

2’-"J India’s food production between 1951 and 1995 grew nearly
(1) five times (2) four times (3) three times (4) two times

21. Pick out the word from the passage Which means forecast |
(1) doomsday (2) overtake _(i)____p_redictiﬂn (4) ratio
R - 5-C
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o WEARINg to the underlined word in the segg,
L gmil!  and diesel should be used judiciously, C,

o ; ic 1 Iy ; |T‘1
22. Choosce the w nt'-’:_ ::L such AN l"*'r (2) rarcly
I\:'[)}II—I!"‘EIIE;VHI]IE b= (4) legally
(L) [frecly e . -
(3) wiscly /—”"#i'i:;i" meaning to the underlined word in thum
T L av . . - :
23. Choose the word which lh }icr\’ ody (0 Save, the planct earth for ?nﬁtcrllx.
It is the responsibillty of €Y+ (2) Future generations
, s (4) Utility -
(1) Prosperily |
(3) Continuity /,,/m word in the sentence. R
he ui -

24. Choose the antonym of t

Vijaylcdangx_trﬂl’ﬂgs’m—t“fc © (2) spendthrift

(4) radical

(1) lavish |

SR _/'ﬂ;ﬂ—d/ word in the sentence. S
25. Choose the antonym of the under :ld e _ | _

The path is made obscure by 108 @) bazy

(1) frosty (4) clear

(3) shabby - N _ et
26. Choose the c?ﬂrreit spelling | (2) A

(1) Cnmfmtmen W' (4) Comitment

(3) Comittment S N i

. th ect spelling |

27. Choose the cnﬁxr p /5 * Gymnestics

(1) Zymnastics , _

(3) Gymmnastics (4) Gymnastics

28. Choose the appropriate preposition. |
We had to wait at the airport for five hours take-off

(V) before (2) at
(3) along ' (4) over
29. Choose the appropriate preposition.
The visit of the chief minister to Delhi has been advanced - two days
(1) for (2) by
(3) over (4) with

- 30. Choose the grammatically correct septence.

(1) - Iam working in this company for ten years

: (2 ) .I have been worl;ing in this comp aﬁ}’ for ten years
1By .have been working in this company since ten years
o (4). Tambeenin this compapy g5, ten years | T

iy i
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L III . CEr{ﬂiﬂ CﬂdE, 11‘- ‘AR[TI‘IMETIC’H ‘NEVGUZRGVP, Ell'l(l ‘SET" i.s C:[]dEd <

: ) in the s 1S ¢ ed 89 ATICS’18 |
«¢RG’ then, 10 the same code, the g - c0de¢ “EM
L DB sa6¢* ‘ARITHMET]C ;dfgﬁr ‘P«’{/:};RG P’ n“§"5 DK 52805y ‘SET» 4
i-FRG"ﬁn §6 B o, W3R §&e5 ‘MATI'IE EV.GCS?GWJ% 56
) NZGSNZGRXH MATIC® 5 NGURZRGVPFE

) FPVGNZRUGNZ Ei; S NGURZNGVPF
~ [n acertain code ‘BLOOD?’ is WSENSEF is coded as ‘[‘IVM_EE;?

" Then, in the same code, the code for « N s : ¥
< 905 £66° “BLOOD’ % ‘YOLIl}xffLAEOma i ‘SENSE’ & ‘HVMHV oy 5
) & : ’ -

S, @YK ©8 FES* ‘RELATIQNp oot &6

(1) IVOZEPLM  (2) [VOZFSI ) %) [VOZGRLM  (4) IVOZHQLM

55 THSPEED=98and TIME =94, thep 5= -
SPEED =98 5000 TIME =94 a0, 1o TANCE =
(1) 196 (2) 150 ;3) 188 VXA AT
e moves 3km towards North from P ang F‘;E

ms towards South and travels 12km,
km. Then he turns towards North to

.-—--'__

34, Aperson starts his journey from a point p pirst]
then turns towards East and walks 6k, 'i‘hen he tu
From there upon he moves towards Bagt g travelS6 _
reach a point Q which is 3km away. Then. the direction from PtoQ1is .
(1) South-East (2) North-West ’ (3) North-East (4) South-West

8 998 2,% Dot P 3¢ 85 @O‘xirga-nael @5{;@9#&3. Fend odd P ook ﬁf_gtﬁ &}ﬁ}zrrrf-
3 .50, POIrEB0D), SHOTE Stk 804 6 & . PoIrBoT. ¥ IS Oz By S
868 12 8.20. HoSreBomrdy. e S drgoyso 88D 6 8.20. PHosredomrdd. SO Gl
55,8 88A 3 8.00. Er8os’ &) Dok QI BEKOET, @9 P &0od Q 8 Ko &%
(1) enyoso (2) aosnisgo (3) &TRg0 (4) 38

35. Apersonwalks 4km towards Westand turns to his ieﬂ and walks 2km. Then he turns to his left,
walks 1km and tums to his right, walks Ekm and then turns to his right, walks 3km and finally

turns to his right and walks > km. Now the direction from the starting point to the final pointis

~=(1) - South-East (2) North-West  (3) South-West (4) North-East
o8 558 9a5S Bdym 4 8.0, J&TE 0 T8 39S 86 2 8., 38D, HY

._‘,j@éfﬁ 5B FHK @dA 1 8.0, IGTE ¥E) HATS JHK 86A % 8.0, ddwrd.
868 08 5658 398 80A 3 8. SETE D56 w8 HABS 3H% 80 -;— 8.%.

BB, a9 acheodss 008 DI6H Fhks) Sk Ko 6
(1) eheo (). aasoSge . ) 3%s (4) &S0
' 7-C S
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ing a dist;
u:l :1ﬂ or MY t{' mward t'l}élcc of 40mt towards West he turng No ..
om S Last and there after 10mt towards g ory
Oy h

36. A man lcaves his hom¢ U .
ach his office. an the nearest diggy,. -

and walks 20mt. Then he W 1
st :l!“

He then turns towards 10 ][;LL S
(in mt) between his home? ant 40 '
% T ‘h""é*’ﬁ? S, 38 &5 s 8da 20 ha@,) |
&

28 538 I8 Qo 5500 HES .
&7 .D 5.'!5‘0&,!“-" SEDE DEH, e BEYSE 8BA | 5’1;

SBmd. SSTd WS 70 NV 0% 4.8 80
4508 3 6% a 30 Ebé.nﬁa 580 35 ehHdo8 adjgaa:lﬁa

Hosrelomrdo. & SoTd >
& éédz,;s *’353‘{5:::- (hDéJdeS")

b

gy
(4) 2

wedn 2083800 55080 fo ~
///gbased =
Directions: Answer questions from 3710 3 on the following statements
) Ahas3 sisters B, C, Dand 26 by
b) Nhas I sister O and 1 brother P k4
c) . Amarried Nand they got 1 aughter Gand 3 sons H, I, J
d) Ghas2sonsK,L
e) Hhas2sonsM,Q
f) - Ihas2sonsR,S
- g) . Jhas2 daughtersT, U _
mﬂﬁa’)m 37 $506 39 $8%0 .0 DHON 808 RITT O emrSormr BROEFR JSFT RO 93008,
2) A% St srsdSimed B G D 5005 agk e B, F e |
N & o8 2960 0Sposn of Fom PeT®
&) A Neodd Stosoml. 08 o8 §5G G 500 50560 <o smtooo H, 1, T 0w
9 Gaagh wsrhe K Leme |
o) - HEmgs Soirsoew M, Q ST
£ 18 mgl Hsroe R, S sT®
) Jé--ggm Ssrgen T, U e
7. Tﬂtal numher nf aunts of His

2) 4 (@) 3
_____,-—-—/_.’___

w1
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38 | -A IS _rclﬂtcd to Q as

| (3) Grand father

37} e ¥

mother

cither grand mother or grang father

(1) g nd mother

Q38 A& o dowogo

1) @50}y T 00 S0y | A o $0
3) od ) o O @Kn&:ugmm%
ﬂs related to K as v— e g O
(1) Father o ) Father’s brother
(3) Maternaluncle 1 anaal ) Fatherin law
K& J& o do2oto
__ _(1) So|& () o @%d}@
@) Bosses - ) S

40.

In an office, P of the emplmyees; are Wornen, %(}f the women and P of the men are married,

e If — of the married women and 9 of the married men have children, then the fraction of

4

the employees having no children atﬁnn'g't;hé total number of employees is

ol 00 aHoeS* ZE’) 208 &&gen ém ége::ei“‘ ga’: 2D0&, Yo %z& S0

3
NEVFORTT VTS DI Py i @Jﬂﬂe‘i‘a Eé S0&8 S8k Aarere HSRees? g;’s 30808 OV

$08, Y Indo & HY Hopges® LB & g0 grKo

e o
B ok ' 1
%(3) > 2 5 . " _.(4) =

o e
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- cJassro0™ I'f4 Students sit on each bench, then 4 bencheg 2
There are some benches 111 ff} e qents siton each bench, then 3 students are left Stﬂnding
left unoccupied. Huwevelr;;r of bench®® and number of students in that class roomis -
Then the sum of the nuim ool — S555 & K08 4 -

=~

§ 558 KOS° §Q) Q) :
Eﬂ"@ﬂﬁ < OLTT00. @WTQGWT = ) Q 40 K 5}}6‘5
Sowmd woinod. wiyds © 8618 HEgiode Sioas et ORI

| @ 79

(1) 84
(3) 65 4) 72

—

i

42.

t0 all the pages of-a book starting With 1. In t

A printer alloted consecutive integer :
[ number of pages in thy

process, the digits from 0 to 9 are used 4893 times. Then the tota

book 1s -
28 @08 2,8 PIFoS'™ 'i:raée_ngjﬂloéﬁg | Qo (FEood) Yotrs) ':."g}"cgus“’azﬁa Ser o0

o oy 4 -5
& BIESHS® (%08 9 568 fo wosoD 4893 e Twdd. GFE & DIEOS™D ke
DOWS

(1) 1281
(3) 1500

2) 1224
4) 1612

43,

B2

While travelling from Hyderabad to Bangalore by a car, the driver COVers 1 of the distance

1 1 -
at 60 kmph, 3 of the distance at 80 kmph, c of the distance at 100 kmph and the remaining

~ distance at 50 kmph. Then his average speed for the whole journey, in kilometers pe

hour, 1s
. ]
5ee* Trdorerdd Sod BoErd @053k 28 B3 Bwgo SrEod’ E;

] ' N 1
S0 §roQ) Kod%d 60 8.20. IK0S’ S, Eaﬁ 08 o) Kodrd 80 8., DKo

1
5 S0 &rovd) Hobo& 100 8.0. Hod'Sxr HoB80%0 DADS Sroe) Hocako 50 B

6

35:;5‘@ WoSredowrdd. & &0 [HDASreaod” V8 JKn ko, Kok §ej"§_bé.)§55‘1
5 | y)
2) ‘10~ 68— i
(2) 7% (3) 0o (4) 663

10-C



. \ person travels on hus car from g Pl

Booklet Code . . C |

P with an average speed “Fﬁﬂkmph
CAtga D"

44'_ and hels late by 30 minutes than thy timg Jy sttt ks, During l1i5lrcmmjnumcy’with
an AVETAge speed of 80 kmphy, he reacheg hi?(;;til“‘ on 5 minutes cat licr, Then the distance
(in km) between Aand B is
o8 58 A 08 B & Sobs 60 8.8 s 5[{955 @?oﬁJ‘Eﬁﬂ?ﬁ‘&?ﬂﬁa, OB &*’mgﬁ
3den DS0ROETY 3(]1 QX0 e 36,3 0TI :Ewam @aﬁr‘mqﬁ‘ Nodgy
g0 §.. JioS® B30, § e, 433000 fogoso BEKITYE. @ ds
A B o Sodg drdo, S Dbgs?
(1) 160 . @) 150
(3) 140 | @) 120

= SRy e

15, Aperson covers a certain distance at g speed of 1 skmph 11 10 minutes. If he wants to cover

the same distance in 6 minutes, then his speed (in kmph) 18
2§ 358 &8 /Y o) Kot 15 & 8y xost Posreod 10 S0 DKL,
B EroQ) 6 SIS BHF oS08 wsa S0, (Hodd 85°DEES’)

(1) 20 o) 25

) O . ) 24

6.

A car covers a distance of 720 km in 10 hours. The speed of a train 1s double the speed of

. 4 e
~ the car and the'speed of a bike is  of the speed of the train. Then the distance (in km)

9

i ':_Gﬂvered by the bike in 4 hours i1s

" éf_é 5% 720 8.20. drorR) 10 KobeST BBK0L0A. 28 Den JKo 76 Srs 8809).

‘._.'f'.- o ; 4
- Bk Frérdd e IKo Bendiod’ 55 S0&. IV 4 Kobded® Jrérdd P8en

C P brdo, (85%0wgs?)

(1) 256 2) 128

) s12. | SEE A 132

B
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9: L4 hi of these questions has a statement followed by
decide Which of the conclusions fnllnws from the given

m
Directions for the questions fro .
and IL. You have 10

two conclusions [
vel as

statement and mark your ans
(1), if conclusion I only follows;
(2), if conclusion [T only follows; "
(3), if neither conclusion I nor II ful[m :
follow

(4), if both conclusions I and II |
s5e0 1 & BHOS® BTty o BHIBH, TV 028

47 5008 49 565 o HHOK QT r
Bodk ©Sdden (Conclusions) ] 50009 [0 t50trom, §8 HHBS0 So0bd DES @i

®HOT: QD amauﬁna

5208 [ Sr$dh ks, b ssrwdo (1) ed,

@508 I 3@ 08w, D S50 (2) @,

0H2a I, Los* 26 00003558, 2 ETESo (3) ©d,

Botk ©SHMden I, e Boaﬁr ©50507, dc‘fmcﬁ‘éu (4) e EE.’)SO&
47. Statement: Mr. A is not among the candldates shurtllsted fﬂr the pnst nf vice-chﬂﬂCEllﬂr of

a university

Conclusions:
) Mr Awillbe selected as Vme-chancellnr

I) Mr. A will notbe considered for the post of Vice-chancellor.
DSSSo a8 JFdTrgecio EHEOIB HED o HdoBdS (8 o) Eﬁzﬁgfﬁﬂgﬂ

faeS’ Mr. A Eﬁt:i:a

- @0 0: '
) MrA ﬁﬂéoe.m@rr' Q00¥ Dok .

) a%%e58 5698 Mr. ASH 506ns°0E 858,

Statement: This is the only book which focuses on the pmblem of Indian Economy during

,, 200{] and 2010 A.D-

4 Cﬂnclusmns '
I) . There wasno book on Indian Economy before 2000 A.D

7 :_' II) " No other book deals with Indian Economy between 2000 and 2010A.D
PSBS0 - & 28, JJTo SrE@S 8.4, 2000 Sodcsw 2010 ﬁ:c’.ﬁgs‘ﬂmeﬁ“ 2SS0 @%5

;55.;5% O3 ﬁaﬁ:ﬁgﬁa dﬁaﬁl &Buﬁ)o&.'-

0D e:
8\ L&é 2000 & S0 wdéﬁé @88 Sg59D 2 DHso B&o.

SI) §4. 2000 S08c%0 2010 A‘S::cﬁgs‘e.me.‘i* OB s 558 O ass @ﬂgw S0

&Boﬁadﬂa
' 12-C _
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9 gatement: lC)nl}r good speakers ar conference. No one withnut good
» gnowledge can be a good speaker '

Conclustons:

All invited speakers for the og -~ pood knowledge in their topics
R) Those speakers who do not e Uerey g have g

are not invited for the confere
. Ve g0 o148 g nee.
@;3,;5;50 e 515‘3'65“3:5)& QO SEex 53‘@;3 l:gfgm'ﬁmcg& 500 DA0% "_332;5’306:} N
& Ly 307 85 58N, = ‘
;,,-:.ETDJ‘ ]

@&mé‘jm: i
\ ?égaé:gg SESNCUSD T S¥ooss o Sﬁoﬁy{}?ﬂ“@é‘s 00D DOS5008,

) 009 DA0H DBPH0BY S o 50528 g:”.ﬁsauﬁméacﬁo.

. . r 'L
% Myiteq fO! tha

]

A right circglar solid cylinder has tadiug 74,
dimen?iuns is carved out of the cylindey Then th L
of the inner and the outer surfaceg of the repaining solid 18

o§ 18 380 Jndo Tgro T 0 3y, < posn K 24.0.00. & {drHo $06 g3
Soded) o8 0% BTEY FE (cavity) g, goad, @PE DAY O JTrdo Ty
g NV Bodl Foldne wagﬂ'méﬂg 5562 2083’

(1) 1056 (2) 1606 (@) 1760 (4) 1314

51, The radius, in centimeters, of the greatest sphere that can be carved out of a solid cone of
radius 9 cm and height 40 cm, is

a‘-g#gu 0 200.80. S080350 28 40 R0 Dy, Ko 28 88 080 0& Foie @@.‘;%
o B, &g 8o, DoLBNLES", - .
(1) 8.6 @3N ) 69 | (4) 1.6

52 The frustum of a right ;iréular cone has height 12cm, radius of the base 8cm and the radius
- of the top 3cm. Then the ratio of the volume of the frustum to its total surface area is

28 00 F08 OB D@_*IZ 0.a0., ﬁrmgﬁﬂgo 8 0.2, 08050 Falagate Tgrgo
3 0.0 &0d. VAP & Fo¥o Podk :’m;;::amwag, ﬁu?’.gj‘g GR0S0 JTergds Ko
8 _ |
(1) (9754 @).- 21100 s if3) 82:53 4):. 32,

.nd height 24cm. A conical cavity of same

30, . !
- sum of the areas, in square centimeters,

53 Three cubes of metal whose edges are 3cm, 4cm and Scm are melted to form a bigger

- cube. If there is no loss of metal in this process, then the diagonal of the bigger cube, in
- centimeters, is - PTG . |

300, 40,8, SoBakw 5 0.0 GOBRIT Ko Surds ) oS00k A0,
w88 Dakom 38 Frds. & EH00S° D WS i
- %0 2aY, Dodhoedest .
O 35 @ 4B O )

13-C
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sﬂd by 10/{, tlmn thc increasc in te total Surf&ﬂ Ca,
- \ |

s incred
54. When cach edge of cube el

of cube is
2,8 qnéﬂ Cﬂ:ﬁg&.
(1) 44%

e 10% Jﬂné _.H MY Doy &HbdO &
9 @(Z) % . (3) 20%
ggmble at RS 40 per kg. But he cnuld not ﬁn®
e to RS 33 per kg using a faulty weight 0f 910 gm fﬂr k,

(4) 40%

cofav
pric

ce ]S |
hepﬂ | “

) 3 E % lncr%

55. A vendor has fixed the ral
this rate. So he reduced_l s
Then the actual change Int ’

' 1o, increase (3)  3—% decrease (4
(1) % decrease (2) * 03 /o | (3). 13

g)c-‘wc::a‘éﬁi 50 & g,
45 8¢ (TA08 40 SrroHerT &
2§ écf&i:déo 2.8 Ergma &Y ¢ T S8 EeHmEnE 35. §3oF 00K i

SSoffeooadien odosd8E §X Ao,
910 (rime nhH of ST Wbol Syd SrET) EHRTROTE. wiye
EESTD duoS 506 |

(2) 4 %adorbcﬁﬂ

11
(1) 41 % S$SHMH8e 3

) 3*% SHHSe L@ 315% DS

—

56. An article when sold for Rs.1770 fetches 18% profit. If 18 such articles are sold fy
Rs.1600 each, then the profit or loss is |

r :
(I) 62% profit - (2) 3—1*% profit  (3) 6—% loss (4) 3—% loss

SR 5@;@& 1770 drﬁﬂcﬁouéo 0208 18% eraso ;’)mcfﬁ werodd 18 ;’m@ma’n 840
1600 Errool @8 3‘.’){5{3 erafsn SO ég}m _ i

" 1, 1 2 1
_:(1) 65% oFo  (2) SE-A oo (3) 65% S0 (4) 83—% S0

p—

7. A shopkeeper purchased a chair marked at Rs.750 at two successive discounts of 20%
. 10% reSpectwely If he spent Rs.60 on transportation and sold the chair for Rs.700, theE;'__
hls gain percentage is :'
ok o5 e mdHdy 750 ciré‘fﬂoﬁ:}m (2D8E3e8 Be.m‘h'e.} 2,8 éoﬁrjg) 20% L9803 10% ;ﬂvdad@
AR, 08008 BT, 08k T Sarer 60 drarohHen DK ¢, & 700 dyrﬁﬂaﬁﬂ
@ﬂ)@}@ @2‘5:‘0 2o >

o I
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59.

—— TR e

60.

24,000in 4 years. If the rate of ingeyeg,

A sum of money at simple interegy
5,800 in the same time. The origing] s

ta
< increased by 20%, the same sy, ﬂnmnums o RS-
of interest 1S | ‘Ounts o RS

g0 TS0y FEPSYerdd) Sdet 4 .ﬁ'% ¢ 24,000 Brarcse 380 ©Hon
5%‘5@3 20 $0 o008 ©d Emgﬁ @aﬁgimg 25,300 Erarooen wHos, 330-:5&_:.
ﬁ“él é%ﬁ@ _ A

(1) 18% (2) 10% (3) 15% (4)  20%v ¢

The interest earnedbyAona certain qim. ded at the rate of 10% pe

: am npoull PET annum at
the end of two years 1s Rs. 4,410, Thep, ﬂ*f'unt G?;;E“”“t that A would have got atthe end of
Grst year, in rupees, is € tota
£od TS0 D VoIATAE 10 o SESE T S0k HodSTeBI TR ‘A’ & SN
,;5@:5% 8. 4,410 ©008, Jo0KeE SoSés ;5.559.‘5‘ &8 TIOR &0 300, Errchos!
(1) 25,410 (2) 23,100 3) 21,000 (4) 24,410

The interest on a sum at a certain rate of jpterest compounded yearly for two years is

Rs. 5,500. If the simple interest on the same gum, at the same rate of interest for 4 years is
Rs. 10,000 then the rate of interest is

§od ooy 8 JY SEBENE’ HoS8y-9EEF0 88,08 SESQ, Dotk HosE)Tolmy,
5,500 SrFobePHod. ©8 Indop, ©f $E6ws" 4 sosdyTres $B) erddSd 10,000

o588, & $EOL
(1y 20% 2) 25% 3) 10% (4) 15%

61.

If o.and B satisfy the equations 3x + 7y =5 and 11x + 5y =7 then 31(0+ P) =
0L 58050 Pew, 3x+ 7y =15 $08a50 1lx+5y= 7 dd¥erod SRhew, 3l(at+p)=

12 (2) 29 CHY3) - 3] 4) 1

62.

If the system of equations 2x+3y=4an
ks (are)
DR

d 6x+ 9y =k has no solution, then the value s) of

(2) all real values except 6

(3)all real values except 4 | | (4) all real values except 12

2+ 3y =400 6x+ 9=k d $Be HOeBE - 5 BEFB, wBydd kI

‘- rQend(en)

: (2); 6 sHom, DAOS V) éﬁfngé 2NN

@) 4 som, DADS ©J) T'Y DD
?Eé e

(4} ':1-2'5"&:5::5“, DADS @) TR T T
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[f the system of cquations 7x =) — 520 u“d ax ~ 5y =25 =0 has infinite fumber i’

68

63.
solutions, then for e R the generd! ‘*”l“flﬂﬂ (x, ¥) of the system is
Tx—py—5=0%080%0 ax—S5y-25=0 o3 "J‘E‘l’gdm 0038 ©SodRN ;55@35@5‘ ﬁﬁémﬁﬁ
ke R8 & 5568 g, e 65 1)) wda
a a (17 4 7k—3,kJ
(1) [7.’1,?) (2) (ﬂ,—j—’—] (3) [A.,?k 7) (4) ( 7 .
04. If the sum of three consecutive numbers in a geometric progression s 26 and the sum of
their squares is 364, then the product of those numbers is
28 DEAS Sy $6H3 Sopge 3080 26 $oBosn 73 Sgre Bngo 364 SR:§
5 r&Dﬂ.‘)SEJ E.JEJD : '
(1) 216 @) 12%
£ AP) 343 4) 512
65.  Which of the following numbers belong to the'series 5, 13, 21, 29, 37 |
Lob Somges® 5, 13,21,29,37, .. des8 o836 |
(1) 2018 2) 2005
(3) 2010 WINPT D) 2017
66. 10+4uf3+[8><3{12+6(25-12><3+8—4x3)”=
5 G Bt 59 35
1 12— 2. 3= g== —
| ( ) 47 (2) 11 | G) 60 (4) 73
.67. If 3 unbiased coins aré tossed sxmultancnusly, then the probability of geﬁing atmost one
; ‘head is |
3 088 oo wdre AHedh, T8 :’iﬁgom 28 80y STy Hoerss
1\ 1 ' 3 1
. .'"-. 5 M A . 53 —
When two unbiased dice are rolled, the probability of getting prime numbers on both the

dlCE 1s

Enﬂis &)ﬁgéé FAEO TBoNIY, [elele SRRV ALIS I AT RODgOD Ny Dogrsgd

1 4 9 1

165G



f-‘:’ g drawn at rand
I[:,._l cﬂdl".l( om ﬁ{_“ ne ' in Cdld‘a |
69 of geting a red coloured facg 1111 ll"}!urﬂ | ack of 52 playing hen the prof, ability

o £O5HS 52 aéa’méz,m gbﬁag& o8 B8 8, 24 Noddonsn
D

oy SODS B0, I Vognsyy %csaa‘;,suf‘f'
. 1
: 0 T (2) — g 1)
| /,(/)rlj - (¢) 26 e,
rections for the questions from -mW —

eries given in the
each of the s questions fhere 15 a blank space. Find the ¢
option that fits in the series and mark j¢ , from 7 10 75 orrect

i 7{];53‘3"3 75 58% fo RHLH By
..m ‘:5).3._.;. 75 HIBO ﬁrél @'@F‘JE‘SG e @@ @E&‘S‘Eﬁ; e 2].‘.@ o [T° & o0, 55@8‘35{ .,-qﬁrp @S58

%S Your apswer-

E_ 0 13,17,25,32,37,47, -
!:-.ﬂ___’_(l) 60 (2} 58 . ) 64 (4) 54
: ; ——-—-._.________..---'___ . =
ik 52..63, 82,99, ' i
P (1) 18] (2) 110 (3) 133 (4) 151 S
. 5,10,26,50, v 2 -
(1) 55 (2). (100 (3) 122 (4) 79
3. ACEEGIIKN, QSV,Uwz
g () ot 2y MOR ' (3) QSV (4) NPS
4. BCE,EGK,KMQ, o Oy
() QW 2 Qu . @) AX (4) QsV
|  XUR, VQL, TMF _
- (HYUQ (2) ZXU (3) YWT 4) ZYX
76. In 1921 All India Khilafat conference was held at
(1) Karachi (2) Bombay
(3) P oona R a (4) Nagpur
19216° wdo g PorHS HITBIS0 SHE B0ASH
() sen ol i 0 Y Sowai
L Oy Fh - (@) >dys
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BooKICL LuuL :l U' <

;11'5“1-’]135 Chandra Bose?

Iiti““E(}um (2) G.K.Gokhale
2 Who is knownas the PO S 101C
b ml C R.Das . (4 Devendra Nath Tag
(3) M K. Gandhi o F;,ci::ﬁ) QI?
. o
2oer® ol &0 G0 - (2) = 3 A
(1) ®. &b o® (4) B30 86 wrrd s
(3) AN § mod . risoned for six years and was sent to the placeun_dgr_ :
78. In 1908, Bala GungndhurTﬂﬂkW“S“m = ' "
stated ~ (2) Enavada
(1) Madras  (4) Mandalay + il
~ MO - |
E;)IJS i‘mcﬂpic 58 B 8 4058)0500 Feo 3§ 26 0wad ($00 OS24 A
rofor |
S80I B
i (1) T (2) QEJ‘Z
" (3) doiiys B Ae.
After the conquest in A. D. 1323, Delhi Sultans renamed Warangal as,

.

(1) Sultannagar (2) Sultanapur
(3) Sultan pattanam (4) Sultangam

f J | .
8 A 1323 &* Daodo S &9 Hoerdoen Soren $1535) QB0 JrTYC

- (3) DS H&eadw

(2) Qoensraro

(1) HoerS $86
(4) Doerdmred

LS

-

:
:80.
I

The word ‘Tambaya danam’ is noticed in the Buddist site at the following place
(2) Amaravati

(1) Chandavaram
(4) Kotturu

(3) Bhattiprolu

8065 HEYE) D TG FIGos® ‘Fowad w0’ © Bifo MhYoSadod

(k. So8S8880 (2) @038
F(B) P8 (4) &858
8 1.3 ‘Kourala’ in the Alahabad pillar inscription of Samudra gupta is 1dentified with
- (1) Chilakalake | (2) Pulicut lake

(3) Kolleru lake | (4) Kondapalli vagu

L DE0EHYD woItrdd JodTIS0S Torgo' BT HBoNac0s

() Do Bssy - Q) 995 B8

. () B0 Bey  (4) Fo55d iy
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The physicﬂl description DfK_I_'iHhHHﬂQy 1lc by whom E
) RazzaK ¥ Ay yas T uniz
(?) Pﬂﬂc i _ (,,. N Gl]nlﬂLiLLﬂntl
gf}nﬁssavoﬁ.?u ). “."ma'lﬂf{lu] ‘f"i‘:"“%a%ga (;?
Y NIk
(’i) 63:' 5— 2) {,ajus:ag ' ¥
(3) ®° . | 54) 058508 o
mbdulGhuﬂhr Khat xW . _
' (1) Lok Nayak Y knoyp as Frmﬂicr(}andhl 'd
(3) [Ironman (2) L i Bandhu
5 56 86 TE & dgom g, o (4)
(1) 5*§ T8 (2) ;;jﬁ-;’.}-u,:fg mod
3) oy SR @) &% 2%
'34. A pgst dated CthUB dI'EEWIl on El'fﬂi[inn bﬂ o Wllﬂ I-eﬂ'lﬂfkﬂd these words ﬁbnut icripps
~ mission’ s nk
(1) Gandht ' , vallabhai Patel
(3) J.L.Nehru " - 54; B.R. Ambedkar
85 PEFdIed "B S L0808y 50 BES Qd)s BEY, M ©DIBoDSH
RESLS | '
(1) mo§ | @) g7 HBS.
(3) 2B 2. T | @ ®. a6, @oBE).6
5. Thetitle ‘Pandit’ was given to the following Jady
(1) Lakshmi Bai :(2) Rama Bai
(3) SitaBai (4) JijiyaBai
& 8o DT ES D0GE o DO Fop3TE
(1) of)are® (2) 65 o
(3) Neor oD -  (4) 2205 @
). In1780, the First news paper in India ‘The Bengal Gazette’ was started as a weekly by
(1) Lord Hastings | (2) Lord Macaulay .
(3) James Augustus Hicky . (4) Thomas Munro
TOE0E InEE Tor HBE @ BorrS RS 17805° TES@EM (DE0DoNSTE
(D) o8 ol - (2) o§ 5B
L B) B wrns 8 @) 0% L&
Rt D b | o

19-C .



Booklet Cude:@:

-~ 9

w0

R _ - tarted durmgflepe'riud of. ]
: . . —— ﬂﬂrc nﬂl[ﬂ-
87. Bahamni- Vijayanas (2) Mallikarjuna Raya .
' (1) HariHara Raya (4) VirupakshaRaya
(3) DevaRayal 5 5—;,{:&5‘ @ﬁnzﬁﬁ:éﬁ
- DaacRISHE 9O e
s (2) a’)aé'}s*cbsﬁ orodd
3G F0I0
E;; et BSTOD ) oog oo
88. “All men possess the same kind Dfﬂ"mms and intellect. No body is SElC['Ed b}' bll'th"x hu
stated thus :
(1) Sir Sayyad Ahmad Khan ' (2‘) Jyothi Rao phule
(3) RajaRamMohanRoy - (4) - Annie Besant
“S G e0lEr w DEDI 5 oD, uic‘.’scmg £ $otrdo. aa’:&)a DB p::)@i;m MJ
9 ﬁ%eﬁoﬁf&ﬁ;’:cﬁa? e -
(1) %6 Hog8 wTd o i .._(3) SN RN
(3) T TS T (4) ADDE
89. Ontimetta, which consists of a famous Rama temple 1S lncatcdmwhxchdlstnctafAndhra
(1) Cluttoor (2) Nellore !
(3) Kadapa (4) WestGodavari
tigeae CArocHEn §o 208D, BoES'A 2 BerS” SOl
(1) Déxd (2) Jozd
3 S6e @) su% fose
" 90. i Ind s g
5 . ‘ET;’A : ;:;:ﬂl{:unde; of “Indian Reform Association’ in 1870 ' '
3 ja RamriigtiagiRoy (2) KesavaChandra Sen
(3) Devendranath Tagore - :
18706 ‘208055 & - 4) EswarachandraVidyaSagar |
(170N 23 0}, SAVEDIT’ #gaﬂé&: DS,
& o S
&S ool (2) BES Sold WS :
(3) 35‘3’@55‘5 T HrE | (4) o A
Y | ol do’e b
Gotta Barrage was cﬂ“ﬂmctT‘ i | I§I0LE ) _ L
‘(1) . Vamsadhara ¢ acrogg lheszer : s
- (3) Bahuda . (2) Sarada
r-ﬁ‘é.:v SSEY AB)v0aES 34 ; (4) .I:Nﬂgavali
(1) Sodgrs oy |
(3) g  ‘ . (2) TEE
s — S e
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Generally water 1s used as a ‘Coolant’ becayse of its

(1) More availability 2) [ ow density
(3) Low specific heat (4) High specific heat

G0 SE0RS T EoM I8 BSdYgs e TS E.
(2) @E:J Q‘D@éﬁ
(4) wbE DILIDN

S

(1) e&sorr 02550 Wi

(3) @) DILEL B0

Which quantity is always negative in optica] distances according to sign convention rules?

803,

(1)  focal length of a convex lens (2) object distance

e (3)  radius of curvature (4) imagedistance

L K02 FORDTON AEDITO D560 &)F drpreres® @ T°F QONYE> WET S FOMM € 0Lch?
& .

(1) Bozrsed ELE Trargoddadw (2) 55 SIS0

{ (3) SEe grES 4) H8DoD, SRS

. 94, Theweight of 6 kg mass of a body on the surface of moon is about (for earth, g= 10 m/s%).
E S0l BHBEw0D 6 kg (85507ake S0P 280D (Frd B0g, 2= 10 m/s?)

& () 6N (2) 60 N

. (3 10N (4)> 30N

When a bullet is fired in to a wooden ﬁlmk, which one of the following is conserved?

(1) Linear momentum (2) Velocity
(3) Potential energy (4) Kinetic energy

28 20BEH TY), BINS'V8 PNIYD $od e BT Q&ge505007
(1) 3dHosH &$S5gS5s00 (2). 3830
(3) &= 3 (4) K8 48

Which is not the characteristic of a musical note?

(1)  Pitch (2) Loudness ~ (3) Quality (4) Wavelength
$0A8 H180 Bk wHogHo TG JO? |
(1) Bs0855% 2) s B o (4) SSonByss»
Kirchhoff’s voltage law is a cﬂnsequence of

(1) Conservation of charge | - (2)  Conservation of encrgy

(3) Conservation of momentum (4) Conservation of mass

805 S'Bz donoso 89 adgfaﬁl‘ﬁﬁ” | |

(1) «35 dagamss Ez) 48 degeesn

&)

(3) B35 DeSgessH BSg dSgSes0

e
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98. ‘The SI unitofimpulse1s
D ES30 g, Sl EvSres BT
(1) Ns— - (2) Ns°
(3) Ns =@ N
99. Match the following pay
List-1 - = List-11
A)  Pyrolusite ) = Sulphide
B)  Homsilver l[) ~“Sulphate
C) Cinnabar ‘ [”);L'_I Silicate
D) Gypsum V) Oxide

) I NV

V) . Halide
1808 THI =IBDOI0 - |

ador-| o]l
A) DSorgd )~ 38)&
B) &6 dexcb ) E’::E.ubéﬁ'
C) RdHd Iy . oSS
D) 2% V), sB8y&
V) W 584

- The correct answer 1S

SIS VR IRSR AN

A B & D
(1) V \Y 111 |
2y NV V l Il
3 | [ V

100.

4 7 (3) 18 T ROMEo + 4 arme 5*@.5‘ (4) 17 erreo womrdo + 7 e s“n:rE

In India fur making ornamental eold w husc 22 carat gold. This isanalloy of

( 1) 22 parts of gold + 2 parts of copper - (2) 19 parts of gold -+ 3 parts of cuppcr
| (3) |8 parts of gold + 4 patts of copper  (4) 17 parts of gold 4 7 parts of copper. -

erESBI0S® womr uidere Sasr§é 22 s'cféﬁ"t:r WOMOA) BIRrALR. R @u& a‘éS’

:}JL:-.-.‘;’).J W go

() 2 e woméo + 2 e sua' (2) 19wmo porrdo + 3 wrmre 506

22-C
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anic Substance from the following
(2) . Acetaldchyde
(4) Acctic acid

50& F&3eS5* A THIK 0Bk ﬁmvg;ﬁ}nl gSlaTeTRVINGY

Identify the sweet odoured org
(1) Chloroform
(3) Ethylacetate

S (2) IerQIrE
(3) 2gS RBS @) 85 wdo

102,

Ethanoic acid liberates hydrogen gas when it reacts with which of the following?

508 8BS BRI 8S'ons &S00 WHToBIYE TE RS Tei0d SIS %08089
(1) NaOH (2} NaHCO; (3) Na,CO, (4) Na

103.

The volatile metal compounds of copper, calcium, strontim are generally used in firc

works to get colours. This is because these motals have
(1) low ionisation enthalpics - (2) highionisation enthalpies
(3) high clectronegativity values ~ (4) - Highelectron gain cnthalpics

500, s~ oo, RS T Qy30 E’éﬁafa’u;ﬁa TERDOWS® ooy ﬂ*od&r@ﬁ TESE.
&8 580 $ S*He% Ke R

(1) vy woAEEe Nl IV wA(2) V8% oIS DOFT Y
(3) wa¥ OBgEE)E Denden (4) »os DO ([TEg Jogrdyen

104,

What is the amount of hydrochloric acid present in its aqueous solution having PH=2 in
gL='? (molar mass of hydrochloric acid=36.5g mol™!)

Pl=2 fo 2omsmes®d trEas vso 505reo gl oo* Jos? (T EEBE 6
e (BSgo?. = 36.5¢ mol-) |
(1x 3.65 S (2) 7.30 . (3) 0.365 (4) 0.730

105.

From the list of metals furnished here under, the number of metals which can react with
both acids and bases is

I) * Aluminium : © MR Zine
) ~ Beryllium = V) TIron
V) Calcium :

806 algRAS $o Das* O S BSOS Dio Frost BiTolhow!
Do worgdao o oo ) zoE .
) B68s0 _ V) oS

V) s 9o

(1) 2 @ 1RO 3 (4) 4
: . .;3.(?



i bn.mlcd ’at”anode and cathode respectwely when dllute
Llcctrnlysed‘?

Ansg) PO 0§ Efﬂﬁ dﬂpam—m D:)'J' i
w; 5 -y ﬁéjmm ST % ;
5 © ] (2) H,S0,
1) SO, 11, e )
() - (4) OxH,
(j) H"}_O‘! %
= = —_— T

107. Identify the correct statements relatcd tt:;_'li_ZEs*{_-,heme of light reacti?_n )
) Transfer of electrons start from ‘SII 1
) Theelectrons passed down the chain to PSII again
) The clectrons reaches finally d c}wnl'ull tﬂ NADP* X
laced in a sequence on a redux potenual scale

IV) The electron carriers are not p

$08 B8OV -9, 098 020800 QBRS a}'"s‘?ge:::\’:o r'i:ﬂoﬁa;&n

) PSI ol Je.:l::;'*S 280 Emr::re:-ﬁaé:
M PSI &% 860 JoFgE 8088 &8 ﬁ‘mm &go BE -

) Jdogee Sodm D3I NﬁDP"éa E:'Hiaéj
Ny G
N § 5EHS* HOED

V) wf$dn-§chida ¥o vToom ;)e:t.;‘S TIPS 2
(1) LI f__ (2) [, IV | |
(3} LI & Lo e
108. Name the final compound and its total number of carbon atoms 11 Gl}fﬂﬂlb’ﬂs “frﬂépﬁaﬁﬁgai
(1) Phosphoglyceric acid -3C (2) Oxaloacetic acid - 4C el
(3) Pymvicacid-3C  (4) Malicacid-4C
'?5;'@55‘3@5‘3 450R8¢° 2 Q)3 Codyg ,q::'go ;‘.oﬁcﬁxl SR B nldéJ‘E'aJ{g)ﬂ B'iﬂﬂ?s
(1) Famseso 3C (@) sme uwio -4 o
(3) 28I 50 - A
g (@) srosisgo -4C

2'4th'-' Lo
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\109 Match the following S 23 i

LlSt-]. T _*.- Llst_II

.A) Frankia D Tl'ﬂnspll'ﬂtlﬂﬂ '
B) K pump theory ) Imbibition
C) Translocation D) . Alinues

D) Solid colloids IV) - Bulk movement
o8 T BB |

- - ';'.-.‘—_*_“ﬁ-r:d‘ﬁ_-....{-h-“:. .._-_,_'_'_'____'____ _ ,- _
5 gs L x a ] N
F ey e N q'l ¥ "i'q w4 S -4" P & ..Ia
- H

oA ALz | £ el rHee-11
A) (rosals D and)so
B) Kt %505 RErodo | [I) A>rSo
C) &Todsd - ) eg)S
D) ;fe:s Seronben LIV) | SSarde Qararo

The correct answer 1S

DB DEFHN0 '

A B ‘€ P
)y I m vV I
2) m I v I
¢3) 1 Iv-omo M
4 N I T

. Characters of garden pee plant selected by Mendel for hybridization experiments from the

following
I) Colour of the flower
1) - Shape of the leaf

@G& T2¢365° D088 PArTe E‘eae 3}01:55

-II) Colour of the pod
IV) Position of the leaf

Deﬁne iﬂmg‘a’a S 2o oo TS

1) RDaAyo Boid SR < H) % Soidd
: ) e@e' L7 e M ~ L IV) dgo wod SRS
(1) LI | PR @ mm
() MV T @) LIV | o

gk




L1

V) ABA
STeb Loonfon & 1§08 <

rrect cumbl nations rom thﬂ following
Choose the €O it il ion UfShnms e
| Auxin - lﬂma
1%) Gibberellins - Opening of s ta

kinins - D¢ i'l)m“th"' ﬂgﬂlg Hl ICHVES
- _ Seed domie hu::y

153308 a:.s;ﬁ'a:m
TO Qﬁcﬁ;ﬁm

) &8 - 28, 50
II) 227000 . HFoT Eﬁ::ﬁ:g‘";ﬁ;@
I1I) “;:-:;'3::153: . Hoed T é?‘gﬁ; Bodgo VoS
IV) ABA . 088 2IT;IY |
- (2) LILIV

(1) LILUI

(3) ILILIV 4) LILIV
112. Identify incorrect pair regarding Lcﬂlugy
I) Tropical rain forests - Basc of mountains
II) Niche - Special position of the food chain
[II) Biomass - Living material that can be convertcd into energy

[V) Biological control - Predator uf parasite of the crop
s36m TBIE Somobod JOSW 2 ..,uai:“*rbaom;ap

1.5656 e
a;’:_‘ﬁnq) Feodoes® Q}Q‘?’.& ﬂ‘;n‘ﬁﬁ
38 SrdErd 288 LYo Jdordo

) wadcde 078 wdIHew
) QS
) <235 83502

IV) 25 dcdode - Job Info SoHEHo SEEse L,
(3) ILII | (4) I,IV RS -’

113.

I T
Isperm - 2n (4) Endosperm-3n

In plant reproduction, fusion of the sccnnd male gamete with secondary 11uclcus fmmﬁ' |
this structurc with this nuclear cnndnmn #

208 © G
y© BEFEBS Bo6S Heoy mnﬁrﬁéau B38c% SoEos* Hodrito aoaas -f:-_

Q6YB oo, & Eg@gg b (5 S
(1) ©orrod: Enmmeo k =0 "
' A (2) DSoocsngdezo - 2n B
(3) 0o - 2n x = .
—— ) ~ (4) woksHso - 3n A
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14. Choosc correct pairs from the following -

l [) Bentham - Introduction of binominal nomenclature
) National Botanical Garden -Kolkata
[1l) Malus malus -Tautonomy
1v) Identification - Floras
gob T°¢ Jood 305 2dol I3)E D
1§ DO -"555‘3135529 HO P[0
) =8c% 3 &TrgdId0 -Polar
) Sros oo B FAR oV
[V) #£80%) - Yo
(1 LIV - (2) ILII
(3) LI (4) ULV
115. Study the following table and identify the correct combinations
S.No. Vitamin Main source - - | Deficiency discases
I A Carrot | Night blindness
II B, Sun light Sterility
11 E Wheat germ oil Rickets
Y% € Citrus fruits Scurvey
& 80b HPESH wFgoido B, FESA S DEDoYPod HBoKod
S. %0, DL STl . Rorgdger
200§ ﬁcs'ga. | arg&oen
[ A e85 | BHEES
Il D drdgsto8 So&gdco
In E |#gsH aweto &3 0B,
\Y & Asoyrd P | 2,64
() LII o eotpe (2)  ILII
Gy trv ., el SR Iy
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116. Assertion (A): Food does not enter the trachea during swﬂllnnriilg

Reason (R):  Glottis is guarded by epiglottis
(1) Both (A) and (R) arc truc. (R) is correct expl
(2) Both (A)and (R) are true. (R) 1s not correct explan
(3) (A)istrue, but (R) is false

(4) (A)is false, but (R) 1s true _

APSo (A): DoddHE w500 TadNT oS S @Banﬁéo

anation for (A)
ation for (A)

s*8wo (R): 03D &BRIS SEem ﬁos..:mé_?;
(1) (A) 6030 (R) dzo. (A) & (R) 8BS D360

(2) (A) %0650 (R) dzo. (A) § (R) IBS D38 5760
(3) (A) d=z0, 59 (R) d=0 5°&b

(4) (A) Qzo 5780, s (R) Q=0

Total lung capacity of human beings 1s

L1
SrSHIS HDOBRe 5o Gty |
(1) 1200ml (2) 3000ml =+ (3) S500ml (4) 5800ml
118. Course of blood circulation in human heartis
(1) Left atrium — Right ventricle - Left ventricle — Right atrium
(2) Left ventricle — Left atrium — Lungs — Right atrium — Right ventricle
(3) Rightatrium — Right ventricle— Lungs — Left atrium — Left ventricle
(4) Left atrium — Left ventricle — Lungs — Right atrium — Right ventricle
SPSIAS® K308 oo SESST0 & ddom 2ihEiod
(1) &S $§8 — K8 =I8S — 33 =S — D8 88
(2) 255 =398 5 IS ¥98 — HHBBK —» DA §88 — Hb wIoE
(3) 58 §08 SR8 2308 - &:DHIoHL — IED EJE — &S 2308
(4) 435585 — D 2388 — &:HBBK — K08 /Y — KB 2308
119. Human sweat contains 2 . .
. (l) - Citric acid (2) Ascorbic acid 3) Lactic acid (4) Pyruvicacid
SPSH BDoLS' 4035 ! | ' ~
(1), BES sBo  (2) e85 w0 (3) ofS wio  (4) 2HIE wio
- 120. In catalytic converters, the following element is not used g

(D) Palladiom  (2) Sodium ¢ (3) Platium  (4) Rhodium

. BLBBE S5E60S' & Srevd JnSeRoSE

=

(1) 378dbo () saako L (3) 380 (4) &aowo
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' 121. First menstruation in female human beings

i _ -
(1) Menopause  (2) Menarche 3y Diapausc (4) Andropause
@u@" S0E80 ey (menstruation) vg40
(1) IS (2) DY (3) dSr>E (4) Qo@'>E
 122. Who was the first speaker ﬁf Andhra state?

(1) Koka SUPbﬂRﬂ” ~ (2) Pattabhi SitaRamayya

(3) Mﬂdapﬂtl I'.{ﬂnlﬂnﬂﬂﬂl Rﬂﬂ (4) Ayyadcvarﬂ Kﬂlﬂﬁ“"ﬂl'ﬂ Rﬂﬂ
:' SOBTIR INEE EE AHE?
L (1) S’ 2T (2) Berd derodioiyg
(3) Sr&FE FHoHodo) (4) wosgBSs sIHETY
- 123. Who was the Bengali leader that prﬂpﬂguiédhthc“%mdcmalumm Movement” in Andhra
(1) BipinChandrapal (2) Surcndranath Benarjee
;' (3) AravindaGhosh (4) Bala Gangadhar Tilak

soeS* “S0BSrdS wgtoo S Ddo BN Bord S0 IS8

(1) DD Hod>rS (2) HBodard BIG

(3) wddod N'A (4), =ro Komgs 8vk
124. ‘India is not one but two Nations’ who saidit? © |

(1) MohammadAliJinnah (2) Mohammad Igbal

(3) Sayyad AhmadKhan , (4) Moulana Abul Kalam

“RoBcsr w§) S 57K, Bodd orargen’” &) DEYIZE DSE?

(1) Sodmb so2a) o (2) %6 asyd

(3) DoSgh wmB P (4) STors wwd S

125. What was the number of the Princely States in India at the time of partition
NSed sesnTE rdstiest o B NOPTO Jopg Jod?
(1) &3 (2). 558 - (3) 562 (4) 560
- 126. Whenwas the *Cabinet Mission Plan’ ;lnﬂﬂl_m‘:ﬂd by Attlee, the Prime minister ﬂfEI}E‘““d

Q0806 HEFAS i TOIE WA P8R Dy HELoBH
L (1) 1942 () 19465 080) 1943 (4) 1944

'Cﬂhgres_s Khilafat Swarajya Party
Nehru (3) Dr.Ansan (4) J.L.Nchru

SRS

' 127. Who was the first president of lhtﬁ
(1) ChittaranjanDas (2) Motilal]
Soito DoHS Borag 1§ 0GB GEFRE
(1) D88oxS oo (2) réod & (3) @u vy (4)

—
——— 2
L]
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ritten inthe [o]lD\Vlﬂg_language

128. ‘Brihat Katha was ™ akrit 3 Pmsacln il (4). Pall
(1).. Sanskrt (23 Fe ;-;- ( )
‘onGreh & a*cii}z:-&é 2R .r"ﬁifl =
PTHE & ) @FEde & (3) ,wa 4 &9
(1) Dodydo (< )_-L__________
129. Tranakairo, the Maharathi chicf Was the fﬂther of the following queen
| (1) Gowtami Putra Bala Sri (2) Lilavathi
(3) Rudradamanika (4) Naganika
Feosons® wdnd TR 9 T8 é“ @ﬂ&mﬂé* > oe38 Hold
(1) FT8rHS Tog _":. (2.) DersSd
(3) SBS50E C(4) KK
130. Which is not a correct match in the fulluwmg , |
(1) Belaaon session - 1924 (2) Calcutta session - 1927
(3) Haripura session - 1938 . (4) Meerutsession - 1946
0B TS Jor 2d SO 08?7 O
() Ters J53¢Sw - 1924 - (2) Bossr J503Fd0 - 1927
(3) H6H8 dSrF¥se-1938 ‘{-‘("4) ArEES dSrHFH0 - 1946
131. Thebook * India Divided’ was written by:} %ﬁ_ £t
(1) M.N.Roy __"”' (2) Aurobindo Ghosh
(3) M.A.Jinnah - (4) RajendraPrasad
“Rodcsr 338" ol GSend PO
(1) 3%. 8. e - (2) w8208 5%
(3) 2. 2. =3y . (4) oo TS

132, The viceroy that was assassinated in India was

= AD) Lﬁfd Hardinge - (2) Lord Northbrook
(3) 'LomiMeyo * (4 LordMinto
, aﬁ‘déa o S ugr‘;}gﬁg &3 3@1‘@ . B g
(;) TR FRoF h(2), o8 TG
| -.( ). &§ D& S (4) g oot
133. Rani Gaidinliu the fearless freedom ﬁghter bomn at

()M -
;{Sﬁj&;‘;‘;ﬁz (2) Nagalang '-_. (3) ~Assam (4) Manipur .-
a5 (1) . 380@s Fooly & U.;,.-"'cjg[j&m’ mgﬁ ﬂEsSwg 2200088
. Q | .
F. @) oreos @) i (4) HoB8pE

3:0.'.?.' ;
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% 134. Whﬂ said, “We will not achicve any Succcss, in our labours if we croak once a year like a
:

frog”’ _ |
(1) B. C. Pal ’ : (2) Sardar Patcl
(3) Lala Lajpat Rai " (4) B. G. Tilak

“OarH8 28D X0 ENeIB BEBLaE DS Ens Snd Judr) FOoUBIn" - ©d
BYSBSE? |

(1) B2 S (2) JFE SBS

(3) oror oudd 070l (4) ©. 2 &8

. “Rashtriya Swayamsewak Sangh” was founded in the year
“m@oﬁ: B50af0 S5 Sof” LDOBDES HoH ey

(1) 1922 (2) 1923
(3) 1925 (4) 1926

. The title ‘Sarvasiddhi’ was borne by whom
(1) Kubja Vishnuvardhana (2) Gunaga Vijayaditya
(3) Virapurushadatta (4) Hastivarma
DERY DT A5 S80I __
(1) %oy dHSESoed w(2) Bomd DucSrHSgdd
(3) 8 HREHE | (@) R 36,

7. The temple at Draksharama was constructed :.Jh.mrvfJr the period of the following ruler
(1) Jayasimhal N - (2) Saktivarma
(3) Vijayadityal | -~ (4) ChalukyaBhima
& 808 FON Foods® TEoHisn 3§ EecHEn QBBI5H
(1) 30dé 2aHodvdd (2) =8 38y
(3) B8 dacirsdgs S @) gy DS

. To whom does the credit of destmymn pmdaﬁs '

(1) Lord Hastings - e () LordHardings

. (3) LordClive | ~ ., {4) LordCurzon
. VT WIS 5558 Jéﬂg&g ﬁocﬁ:é:ﬁﬂ&_-.

(1) o§ RO M) (2) TR TBof)
(B) eg3s - 2R ) s g8
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— ¢
8
, hichh dxstm,t &
= ¥ T ‘h.:\“'h. 1 W y ] !:,'*.
139, Sangamayya guha s lc (ﬁ) sl i
g: L:“;:l: :‘u e {4) Prakasiam B
I{R1TRIN : 1
St B Si
th.cmg oW & SO+ gl 2L
L (2) 3yaade 3
(1) - QLI do ;( ) 3 |
-y w A L & Y (4) t:\sg'*iﬂ g .
(3) Saow 22 :

—

Bhiravakena Temples be ln"h-f‘-”l k m“(’wmgl"-llblﬂﬂ

140, .
(1) Vaishanavism P ----__( 2) Saktism
(3) Saivism . (4) Jainism
SOSSISD o S0 ¢ ‘% E&umnaam}a
(1) 3o - (2) RN
(3) 33 i(4) B33 ge
141, In which state of India Dogn language 18 gpnke;1 %
(1) Sikkim - (2) Arunachal Pradesh
(3) Jammu, Kashmir « (4) Himachal Pradesh
&N o3 TR TESBIoSN §03 D“@Gﬁ' Srirdoadd
(1) R§,0 N N (2) 's.,ci:s-a*.:ieS' DR
C(3) =50y 595 @) T3S 08§
142. The Proportional Represcutation by means of Single Transferable Vote System 18 used in
the clection of | BRIt
(1) Lok Sabha members .~ (2) VicePresident of India
(3) State Legislative Assembly m:.mbcrs (4) SpeakerofLok Sabha
& 0B T ANFS* I8 @*&Dfég DE 880 289 HEAY FIRrHRE
(1) &'8§3e5 dgbgen e - (2) ordé ﬁaa‘@a@
() TRITS 3z dhgen L (4) &5 v 86
143. gi‘l‘{::!‘l?llﬂ;gﬂflllutlﬂn doces not pn,:.\crtbc reservation of scats for Scheduled Caste& and 2
- | ed Tnbesin _ Bl
| g; II;“k ’f“bhﬂ © (2) Lepislative Assembly ofa smte .
- anchayat Bodics (4) RajyaSabha

SPS Yet TramgoMta)) ©0R000 qﬁrg% éae;:;’mm S00a8n wdrgen 8loTd ‘,;,é,, aﬁ-as;ﬁs

(3) oman Hoges &) oo

& 1800 Q8 Qe EBE |
1): SB& et
(1) S =(2) U‘@ﬁﬁ“;ﬁ 48

30LC"
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The (_.mi::ululunml Amendment Act thyt increased the seats of Lok Sabha from 525 to 545
(1) 3 Amendment Act, 1973 (2) 320 Amendment Act, 1974

(3) 36" AmendmentAct, 1975 (4) 39" Amendment Act, 1975

& (8o orargoll NS89 Vo &eo O'itestn DL Sopgid 525 Wod 545% oo
2004,

(1) 313 TITONRISE w0, 1973 (2) 325 orargodddde SQo, 1974

(3) 365 oergofiddde Who, 1975 - 4y 398 orergolidSse Qo 1975

. Sccret Ballot System is not (ollowed in the glection of

(1) Members of Lok Sabha (2) MembersofState Legislative Asscmbly
(3) Members of Rajya Sabha (4) Panchayat Sarpanch

S0y ergBE DR B (§08 IQES* VKRB0

(1) oS85 Sehgew (2) oTRITN DF Debgew

(3) or=gdd Sebgen (4) Homrowd JdEyod

The 52" Constitutional Amendment Actrelated to Anti-Defection was enacted in the year
T8 DT0N0YL JATVE HooHNS 525 grargoll $¥8e Who & fod Joddiost

BIATEOTEI _
(1) 1980 (2) 1985 (3) 1989 (4) 1991

. The General Elections of Lok sabhain which the Indian citizens above 18 years of age have

excrcised their vote for the first time in the year
& $08 V03005 STEIFE AErownds e IQFwS* 18 SodSoren JodS

arOS érey ISEFE Lo '?’.J‘E’ob;in ﬁﬁtﬂ?ﬂuﬁ:écanda

(1) 1984 (2) 1996 3) 1991 - (4) 1989

. Identify the incorrect statement

(1) Direct Democracy is found in India |
(2) Indiahas Fedceral System of Government
(3) ~Indiaisa Republic

(4) Indiaisa Sccular State

508 TAS* J05° argwgdy Hfotod

(1) w6880 HeSg§ Werdrgogo S0k

(2) E8BIoS* Sdrag BebE Aerdo Tk
(3) erddd¥o =¥ feadso|e U‘ﬁgziw il
(4) w8sddo o8 S8E oagso
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149. Thenew Funda

poaiecrte:| €]

incorpc . utional Amendment
‘Hﬂﬂiﬂl Riﬂhl that wias mﬂ'?rpﬂratcd hy the 971'.11 Cﬂnsllllitl
[ £ Miati G CC D

v x : fession
o ' 0 (2) Rightto practicC any pro 1
(flij gjg:a::n Ei:;ﬁf:nyt ’Eﬁl; Right to form CuﬂperiU:;;:;ﬂ:;b;
ghtto _ -
5(37)25 r::'z.“guﬁ DRG0 WO, A & ;
(1) dorg &5y,
(3) @ TETTIT helefy

rade

2011 T§0% Tengoriost rodoBE)
X (2) o) 5ﬁ§ﬁ‘ 59}'“ : fe s

o @) 5506 H0BFOR ATV T8,

At present the number of Fundamental Duties in the Indian Constitution

150. AR
Bago 78S D":ﬂ"gnﬁaé‘ (P8 Q@ﬂ_ﬁbmg N
(1), B (2) 10 S 3) 11 (4) -
151. To Promote International Peace and Amity is found in this part of Indian Cnnst;t;ltmn
(1) Part-III (2) Part-1V 28(3) Part-1VA (4) Part-

SoSEos mod 5B TnE Sonoired HoTohowto I ®woFo 276 TrergoffoesS
= o

808 zrifost o 5
(1) MWSedo  (2) Wswhor  (3) IVASwdo (4) V& ardo

The writ that is issued to secure the release of a person under illegal detention

- (1) Co-existence of Labor intensive and Capital intensive industries
(2) Co-existence of Small and Large scale industries
{3) Co-cxistence of National and Foreign companies
(4) Co-existence of Public and Private sectors

L OED ©PE Sp5H wdm DT

‘-_(g) - D) 865 0050 DY 6 A0FDowo KO” Yot
I (3) Brah, 2B%chH 20F0en EOA Hodhoe
o (4) @b, w3l Sorren £on Jodody

o (1) Habeuscorpus (2) Mandamus & (3) Quo-warranto (4) Certiorari |
cED Aodos® &) Ig8D ddode fﬁg?:é:r-‘aﬁ 20 D@ 88 |
(1) T7DaDHR s76y® t (2) SrosLS |
(3) Sadots’ o (4) BRr6s |
153. Whatis meant by National income? =
(1) Income ofthe Government . (2) Budgetofthe Government :
-(3) Sum total of factor incomes . - (4) Profits of the public sector units :
T EEr TN A2 ; , |
(1) B8] sorchsw (2) ©2D&Ss 23S :
T (3) &8\ sFo K8Hore 3080 s (4) @25355 H“:"G%ﬂ e eren
_1_54. ‘Whatis meant by Mixed Economy?

# 1 r
~ e wt'mr*—_ﬁm -

(1) E-Zods 5dcw Sireds-rols 50ghes 50n Hods
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In which year the National Rural Health Mission (NRIHM) was launched in India?

155.
2805 (e e6° g DAS (NRHM)‘MWQ T ES5BE0St D HoBB)BoS® PITRHDEIH?
(1) 2000 (2) 2005 " (3) 2007 (4) 2010
I TS 6. Which sector contributes the largest share to National Income in India in the 21st Century?
| (1) Agriculture sector " (2) Industrial sector
(3) Service scctor - (4) Foreign sector
2] 46°08° erEEBE erBoirmroH SRS Wy, S T @odNN) Joko Q82
(1) Sg5&rcd Sofo (2) BFE Sollo
(3) b Soffo (4) 288 Soro
- 157. TheIron and Steel Industry at Rourkela was setup with which cuunh}_r’s financial aid?
(1) Soviet Russia (2) Japan
(3) France (4) WestGermany
Er0), 0 adn-e&y, §o7Tdsn d 3F ©8E J3FE00S” IoFOWEIE?
(1) 0D Srg (2) =S
03 @Y L (4) 8D adgﬁ)
158. What are the invisible items in the ‘Balanceof Payments’ Account?
(1) Goods transactions (2) Service transactions
(3) Physical transactions * & (4) Unilateral transactions
TgrS BdoHhe dho wS 0d5S* @'d;)afg wofdVen VI DDoE3?
(1) 3% erordden (2) 3 erordden
(3) FTOEHEZS erTBHen (4) 3K ordden
-159. Which of the following is not a Direct tax?
(1) Customsduty (2) Corporate tax
(3) Gifttax (4 Incometax
od T8S* BEg¥ o) 5708 8?0
(1) 35y dmges (2) s&den 53y
(3) =K Do | . (@) soon 8y
?’..160. EXIM Bank deals with the issue of financial assistance relating to which one of the

following?

(1) Foreign Trade | (2) Domestic Trade

(3) Agriculture Development: -~~~ (4) Industrial Development
280 (EXIM) g0 1808 a0 B8 888 3d%ahSanso ©WoBA0H?
(1) 282 srgarssm | B (2) B8cH garssm

() Sgsvosrnsyg &) orsos
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5011 consus, whatir ihe three Districts recorded the highest [emale lite, |
2 ary

161, Accordine to alter bifureat
{f““dmb i p,-;uivn‘h aller blfurcntmn?

rate in the order in Andl : -
(1) West Godavar, Krishna, st (lt}davan =
(2)  West Godavari, East (ind;n‘nil'.h hrlshnﬂ : .

(3) East Godavart, West Godavatt, i\l‘lshna" .

(4) Krishna, Last Godavari, Wesl Gﬂdﬂ‘f{lﬂ-,

2011 250 ©5) 0 RO N oo ﬂ@;&ﬁd}ﬁ@ﬁ;ﬂﬂj“ @9@@55 (Des238 068

| ol
SRS [ SRS Ve S s2A8D2 |
(1) S Forso, g i) FTad
(2) 3% Foss, drdy FTd0, SWau | -
) : |

(3) &y Harso. B Yoo, A | |

(4) ‘Su‘; fju:‘:..‘bj N9, u"‘jw S350
162. Which one of the following denotes the size ofan operational holding in Indian agriculture?
(1) Owned land B N ‘ s 4:
- N

.‘.

(2) Owned land + leased-in-land - 3

" ] =':l"l;i\\‘:‘ ] ;
(3)  Owned land +leased-in-land - léased-out-land
(4) Owned land - leased-out-land f "

808 TE565® 2 EARY S0 Nt GE Seae i o - '

8 C8BY 3133000 n:jcﬁgog) FrENEY) D8357605395) APNOTH 282
(1) 308 e

() %508 w22 « Feit b8 amn

(3) %08 8+ Teos 41,

o,

3N) 2 — T8I s

(4) Scod = '
w_ __-‘-t -y :1._ i F‘_ i
A St,,s_,:lg = |

163 Highﬂ'ﬂt tem °ra : Ty e :
o PETaIUIe 13 recorded o the surface of this planet in the solar system

(1) Earth _
" (3) Mars " (2) Venus
A . (4) Jupiter
080D gy, L | .
(1) =2 - bﬁhmoméﬁfﬁ_@ VERE GRS SIrToh.
(3) ey @ s

\ ; (4) .Eaarﬁ'mﬁ‘ja . | - _ i
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. 164. On the day on which the su

: 0's vertical , : _ _
‘daytime’ on the North Pole would be: 7S fall on the tropic of cancer. the duration of

(1) 06:00 hrs

: - ~(2) 12:00 hrs
(3) 18:00 hrs . (4) 24:00 hrs

(1) 06:00 Korexn

(2) 12:00 Kobren
(3) 18:00 Kotrexn

(4) 24:00 Hotoen

-165.

Teak wood trees grow in the following type of forests

(_1) Temperate forests (2). Tropical Deciduous forests
(3) Dry deciduous forests (4) Beach forests

Bo8 &Y S08S & 5598 BobS VEJos* By Hysren

(1) $5'8 vdHen (2) &R%ode sHowy wEHen
(3) HHy VST Y ®EHen 4) DS widHen

2% s o

- 166.

This district in Andhra Pradesh receives

maximum rainfall from the North-East Monsoon
(1) EastGodavari District

(2) Krishna District

(3) Prakasam District (4) Nellore District
SOPDBT Soch &Tsg a0&HSS0 T 08588 SErso >od Rer
(1) &Ky o5 Qe (2) 8 2
(3) s B 4) Sers Ley
: 167. The natural vegetation in Andhra Pradesh largely belongs to:
(1) Moist-deciduous forests (2) Dry-deciduous forests
(3) Mangrove forests (4) Dry-Evergreen forests
BOPWAT 08O Hre VoIS Prsor & E5°A8 Bodob.
(1) E;lg - BRT ) VB (2) BTG - vHT ) wEHen
(3) S8 wiHen 1) o>g - 888588 waHen
-;:.'l 68. This state has the largest number of National Parks in India:
(1)~ Uttar Pencled (2) Madhya Pradesh
(3) Rajasthan (4) Jammu and Kashmir
ESRTo 508 & oo 8o Y NOPg WwEIHKoO:
(1) wds 335 K i Rl - oy gow
(3) d"’aﬁm‘s ¥ -~ | (4) Eﬁxrvé,, Sﬂéé}ﬁj
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hanu,lq Flnd out the wrong answer ll'nny

169 The Penna is [oWing fn (he . (2)- 'Nellore
(1) @H:ﬂ{mpummu - (4) Chitoor
(3) I:u. Elg i w‘ﬂd{ [;J:sﬁrﬂ,:’l ag{,ﬁ; ¥O5°R w0 08 rbﬂmﬁm&
a6 & O ¢ . .
2) Sexrd
(1) w3088 () ovkillng !
3) gad :..(4) DERE |
( gl dia N
st irrigation ¢t al n g 1a | ,
170. This is the longest! @ Buckingham canal | |

(1) Indwag gandhi can 1l

(3) Agracanal I (4) Conolly canal

2B wrdSAio Sosd wdgod FEID ri.'r'-ﬁaa)éﬁ sPend: |
(1) =oBTTod T (2) 280hS%0 ?mé l
(3) sy soos (4) £ se0d |
171. Match the following |
List-1 | LlSt—H 1 R A
-A). Rice ) .. Uttar Pradesh S y
B) Coconuts )3 Kmnataka | ;
C) Sorghum IMD). “\West Bengal g
D) Wheat '\Q | .‘,Erala
1808 T 2858w . |
)¢ i
e el |
A) 80 ) § -~-1'€B'E§5@35
Q) =ae [b ‘{33:);’13 Bormrd
2 S V) B¢

~ The comect answer is
" ROEB Do

(DY A- . S
8 e -y bl & () AV B CIL DI
I by 2% @) Al BU CII DIV ©

172 = Sesi

. ._‘IHAndhra Pradesh, this is (he

Ongest state hlgh way
GOFIRBTES
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The first Secretary-General of UNQ, Trygve Lic belongs 1o this country

(1) Sweden | (2) Norway

(3) Myanmar ~ (4) Austria

DEgorag PO BEE DELS 2dES Bcd & A =08 BoBSTE
(1) g (2) &0g

(3) SochHams (4) eRosr

The year in which the Panchayat Raj System was introduced in the statc of Andhra Pradesh

B T T T T I e TEENE. & .

174.
BOPDAT oPos* Hogrand o°F SIS (FEoHodS JoRE)do
(1) 1957 v (2) 1958
(3) 1961 (4) 1959
175. The Schedule in the Indian Constitution that contains provisions relating to Municipal Bodies
(1) 12" Schedule @2) 9t Schedule
(3) 11! Schedule (4) 10% Schedule

2T &€ ma*goﬁa’md‘z} §od adrgeo Rﬁﬁﬁa’.ﬁe.:é ‘p&u"gﬂ:é\: H020H0D8 woT o EOR
& )6 . |
(1) 1235 adsrgen (2) 935 Tadsrgew

176,

(3) 115 adrgen - (4) 105 Tadorgen

Match the days with their theme of the year2018.

a)  World Earth day 1) #TimeIs Now

b) World Red Cross day i) End Plastic Pollution

c) International Women'’s day iit) Memorable Smiles from Around the
- World

d) World Dayagainst Child Labour . . 1¥) Generation Safe & Healthy
2018 50350708 Ho20Hod VG BS'GHTON, T 98 SyTodH 2SS4,

a) o /e St ) # JDooho wdHII8

b)  [PDHow BEEFR AdS Do o I) S SPe0argd) SwAcod

C) ©oSTAODL HNIreBS S0 ) @BHoso wods $0d 2080 GoddH
‘ DSOS Hgew '

“d) BB rosBE $5F08 aSGTo V) O8S Sodain e8gSosHos 6o

(1)  a-iv, b-ii, c-iii, d-i - (2) . a-ii, b-iv, c-i, d-iii

(3) - a-ii, b-iv, c-iii, d-i - @) b, o, div



177-. Truc about BRICS

Booklet Code :L@

hﬂld IﬂjﬂhaHHESburg
th BRICS summit was
:,; 'i"{f) BRmber countrics are Irmn the continents 0 eAfica, Asi
1 IMc

] tn S) in this Association
c¢)  South Afrca is the ™ country & ,]mn (BRIC ) in

d) ‘B’ stands for Bharat .‘). 54

BRICS Hozobot HOG N .
a) 105 @8 Sdrado T ;51,.33,}?'@.* zaﬂﬁca&u g
b) e®s, BRI, 53005, 90D POTOK TS BTV ST DS

c) 68 2580 SN = 263 af::: Cﬁgea @LEJ‘E"

( ‘B’ 92 20O 3000 i |
(f) a,b,c (2 b.c,d :: _ (3) b, (4) ﬂ,b,ﬂ,d

a, America and Europe

178.

JIMEX-181sa
(1) 3rd edition of Japan- India Mdntlmc exermsc

(2) Jewellery exhibition at Prag thi Maidan grounds January 2018

(3) Jointmilitary operation of lndm—Veltﬂam
(4) Joint maritime exercise of Indta—USA

JIMEX-18 @936
(1) 2&S-zrésdro DIy 39 JBEEJ QT EI0
(2) 2253506 2018 &° (0 DOH0S* |FPEoPotndS 2.8 GLbre OGS

'-“._

(3) EE-Dchd)ow Sockng mué.nﬁ Hﬂﬁﬂﬁ
(4) ﬂ?dﬂ USA © bJﬂCJ'JJJE TS ;}a‘giﬁ‘m

179,

. (2) Government of India program forchi!drcn of social & cconomically backward
(3) 'UN program for social justicc ; P

| 'i (4) Joint military operation of I{ussm and China

¥ (l) VDY ToRSHE r8odods hg:’ﬂﬁ

S (2) PABEOM K00k s08om a:-foéa::&:a OO §E Beosc0 E“:SSL_g;gm .
,-:-.--_(3) rdras |

SECMOL 1sa -
(1) Organisation started by Sonam WangChuk

FECMOL 38

;a‘SOﬁJU §'65% ﬁggﬂ'aagfam@ 5'58'5:’3‘:‘

_l-lllll'l-

| -4_05-'.6 -
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The 1mpuﬂancc of 215! October 2018 is
(1) 75" anniversary of the formation anch i’s Azad Hind SarLar

(2) Centenary birth anniversary of Karl Mapy
(3) Completion of 150 years for Swamy yjyekanandas specch in Chicago religious

parliament
(4) Centenary birth anniversary of Subhas Chandra Bose

2] ©&n6 2018 DagEs

(1) Sed erd Grob Jo7 60 Food 755 05 €)H0

(2) 586506)y S=008 a'ﬂﬂng‘égéa

(3) IJ5"Sotody DR D& FERosLS* E’;ﬁgﬁga 150 Soi-5°8 oS8

(4) 200D SoBS*D FE2cH0d

181.

‘Lion Air” airlines belongs to

(1) SriLanka (2) Indonesia
(3) Singapore (4) - Malaysia
‘Lion Air’ @3 d5r305rS 308 O B37°08 $02080058

(1) Reoo¥ (2) mo&Incsr

(3) Rosys (4) SoBncsr

182.

In India, vigilence awareness week observed every year during the week
(1) First week of October (1-7, Oct) o
(2) Last week of October (25-31, Oct)

(3) Lastweck of November (24-30, Nov)

(4) Theweekinwhichbirthday of Sardar Vallabhai Patel falls

B8 JoS&o rESTFoS' IRBY) ATEIV FEOT 2DHJEI T80 .
(1) o6 Ivs8Bado (V826 1 Lod 75 88)
(2) ©§ab DSBTEo (w08 25 Sod 31 S65)

(3) SSonb V50T o (SSo26 24 So0d 30 J8K)

(4) PEE SoercS HBS maHod D T K wTdo

183.

The Swedish Academy has postponed the Nobel literature prize 2018 due to
(1) Lack of funds (2) Terrorist activitics

(3) # me too scandal (4). Political unrest
AR 05 2018 HoSST IS @*b‘égﬂ“-’s‘ 5‘36'3'@31553 alobtlay E’jmcraé s'r:fsrm

(l) Joe 508 [.2) ﬁ@ﬁ‘ﬁh udsm
(3) # D b e6b0ws . (4) oafoh wrocs

41:C
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o llowing -
- 1 - commitiec IS & dpl‘lU”‘l"d fﬂf fﬂﬂﬂmmandatmns to strengthen the fo g
184. Anil swarup P o0
. py NSS = c) ‘N
Scouts i
3) aandb (2) aandc
(3) bandc (4) a,bandc g el
& 1806778 S 550 Db ”jdi)m 3'5:1 A &o WIS DeETD E0E . 0
a) A b)  DR.I9. Qa 'c) 0555
(1) adodos» b - (2) addcwc
(3) bdoboiw C - (4) a, b &So8ad0 ¢

185.

Who led the Western Ghats Ecology EJ{pr.:rt Panel formed by Indian Gevernment for
recommendations of preserving the Wastem Ghats

(1) Madhav Gadgail (2) RangaRajan
(3) Madhav Nayar - (4) Sundarlal Bahuguna

DB EHde DBIER 2 SO [oy 3063?:5".%5 chleuTReEARE Te qjcr“n)é.}az'fm:é ﬂ%;};’:o Do
DTS AYFO ED0iS8 JIgy3g0 .:i‘n’ruaaﬁa'*m

186.

(1) S med : - (2) oo
(3) I8 o . (4) Boossberd advie
Annapuma milk scheme 1s a

a) togivemilkto children studyi mg upto 8th class in Government schools and madrsas
across the state Sl

b) astate sponsored progidmme of Rajasthan State Gnvemment

. ¢) aAkshaya pathra sponsored prc}grarmnﬂ .

d) ajointsponsored programme n,f Gnvemment of Rajasthan & Akshaya Path:a

(1) a&conly ~ (2) a&donly

-(3) a&bonly ; (4) aonly
-ﬁa;ﬁiugrcf T DHBo «IH 9 '

L8 (O Tghom (Ba0ds Sereoes $00080 HdTyost 85 S6Ka 5650 ﬁcﬁ::é)éoﬁ

v- aﬂ*gﬁ)ﬂ@ YRS t-..an]":-J gq‘jgg ___' _.1'.

3 b)) TaZS @Hahdisy m&mﬁmiﬁa ﬂﬁsg” --
e s _ ';) @ﬁo:fo&@ SR :aua:: eﬁ;mﬁm«‘ﬁ SlaRle
S d) o2 ©2Ec0 J508y,
(1) a & ¢ S

'3 a & b S

Lgm&@; ;aadi:xﬁan“ VTYF) HesEo
(2) a & d SrgS
(@) asmE

R -C.
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187. Match the following:

a) Assam state sports .ﬂxﬁbas'sadcir -_ ) | MS Dhoni
b) Road safety compaign ambassadqr ii). Akshay Kumar
¢) BSNL brand ambassador iii) P.V.Sindu
d) CRPF ambassador T iv) Himadas
v)  Mary Kom
808 TR 2BDES0 o
a) oo ol §do oroherd - L i) ~M.S.6
b) 5 HES BT Trowrd i) wgoS K56
c) BSNLgrodoobhers b i) P.V.®ogh
d) CRPFocHhard ) rEenS
V) B85
(1) a-tv, b-ii, c-iii, d-i (2) “a-i,b-1v, c-v, d-iii
(3) a-iv, b-ii, c-v, d-iii (4) a-iv, b-i, c-11, d-1it

188. Expand COMCASA
- (1) Common Wealth Communicationsand Security Agreement
(2) Communications Compatibility and Security Agreement
(3) Common Wealth Compatibility and Services Agency
(4) Communications Compatibility and Service Agency

COMCASA %5 9580508 _

(1) 5°50FS $5rgdEis) wob Ergdd ©B0oEs
(2) 8300gIBART) $oFBDOB @o& Erg08 ®AD0eS
() SHHS LorBDOB wob HE(G 22

(4) S$5rgU8RT) SorBHOS. wob HEHR Dasdy

189. In9Qth AnnualAcademjf ;ﬂxwards -2018, the best film in foreign language calcgory was

(1) Shape of water (2) A Fantastic woren
(3) Darkest hour (4) Village rock stars

905 08 05 dd wa)-20185° wdH IB8 A o

(1) 25 o5 a6 @ 2 05E e%S
®) PRI, s s ). 008 E

- 43-C.



190. *Seva Bhoj Yojn

imburse thé'CEn’tral Govern
~ (2) Sports
L)
50300 BYoRS GSTS' EL

4’ aims O TC D
(1) Charitable Religious [nsti )

(3) Educational [nstitutions
5, oS Gorad DESO 18ob

30980 B2 )
Bgsthih S8 S (2) o VoRe

Booklet Code @ #

ment share of GST to
[nstitutions

Voluntary Organisations |

i, il L (4) dgees HoQeN
(3) dog PPN - £
| - < with Authors
the following books Wi _ . * ..al.
e Eﬂtd}rh; Emergency, Indian Democracy’s Darkest Hour 1) Kﬂjpl} Sib;l .
| s i 11 S. Jal cddy .
b) Shadesof Truth o 11) P p aP'rakjh
¢) Movingon, Moving Forward-A Yearin Office ii1) RDATYa L Idcash
d) Ten Ideologies: The Great Asymmetry between iv) M. VenkayyaNaldu .
Agrarianism and [ndustrialism ' 3
& 8ob DHIFTOD T SSondes’ 2dDESob.
) 353Y), RoBADI RaNEND TR VI35 1) DS 5:;@5 4
b) h§ b &S sl i1) S. 2crS 3%
0)  Sardof 65, SO0l FEF-D RORE BS &S i) A Srdgesa
d) 88 z8direZa: & ne eﬁsi&&éﬁ&éﬁsﬁ iv) M. Sogcsdg ﬁ"a‘b}@

(1) aiv  beiii c-i  ddh, W
(2) aii bi v ddii o 0T
‘(3) adil biv  c-ii dH
(4) a1 b1 ey dAi

192.

O RER-30 eda o
8 (1)’ FS 0K LT
) . (2.}. 20T BT S523800% &

(1)
Q)
@

Cyclone-30 is a
Cyclone alarming centre ey
Deadly cyclone that effected Bangladesh

Panlclc accelarator, that produces radio 1sotopes
Nuclear Reactor newly established

support

& .
N

N oRo gt

ed in Kalpakkam with the help of Japan thhﬁﬂlﬂgiﬁ?} _

® 0% 065°. B 058y Sois¥ 5053055-?_ | %

: i

L3
L g
1
-
= L 1]
"

3 ']
=

1

) |
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Mascot of 2018 Asian games . .. | _ | .
a)  Atung b) , Bhinbhin " ¢) Khakha . d) Borobi
(1) a,bandconly - *(2) bﬂ'nly _
(3) canddonly € | (4) a,b,candd
2018 esdosr S 5085 | -
a) ©&oh b) HS DS, ) S5 d) 5°6°D
(1) a, bSososn ¢ S . (2) b
(3) c B8 d Sl 4) a,b,cSo8c5® d
194. In August 2018 which country proposed FAQ to declare 2019 as ‘International year of
Millets’ ' |
(1) Pakistan ' - (2) Bangladesh
(3) India . (4) USA

20195 Jod&)o7R) wodgdch DTG vod&dorr wELomhodm FAO S erdy
Jo 20188° HaFBoNS B '

1935,

(1) >8>S (2) =omrads

(3) 8B do @) 3005

Andhra Pradesh chief minister Sri N.Chandrababu Naidu was a recipient of 2018 Global
Agricultural leadership award, in the category of

(1) Media Leadership (2) Industry Leadership

(3) Technology Leadership (4) Policy Leadership

2018 TS epgensS HEES VTEH BFRBT SwwgSoo® § N. Soeranacsnd
& (808 DaHos® wotHssE:

196.

(1) Dacsr 4625 (2) =odf H8&HS

(3) Bk HEEND 4) Fod &S

The following person was appointed as the chicf justice of Uttarakhand high court in
October 2018 0

(1) < Justice Naresh Harishchandra Patil  (2)  Justice Ajikuttira Somayya Bopanna
(3) - Justice Ramesh Ranganathan (4) Justice Debasishkar Guptha

©ERS 2018 & sgopos EE HS wpST AHDoov2aS 558

(1) 238 S8 6850 >8S (D) =S easgo asiang 558

(B 238 DT SoKarsS (4) 23S Bersy & o>

45-C



@ Booklet Code @ '

197. According to the Rankings given by the Department of Industrial Policy and Promotiqy

(DIPP) in July 2018. The following states stood first and second positions in “Ease of
doing Business”, respectively

(1) Telanganaand Andhra pradesh
(3) Jarkhand and Hariyana

(2) Hariyanaand Telangana

‘ (4) AndhraPradesh and Telangana

B3 EH0E 6P qodRPORS TR V08 {FIr3S (DIPP) aé> 8 20185° 2dyS 0°g08of
5o “&E o dronoh DEIDS® e, B8P T 0 FobS TR SOOI
(1) Boore $00050 oFRBT '

(2) &BoSres 2B SOOMED
(3) - =gob $Hdan wrdadred

(4) woPaT Hodc3H Bworre

198. Winners of the 2018 UN Human rights prize
a)  AsmaJahangir - b) Rebeca Gyumi
€)  Joenia Wapichana - d) Front line Defenders
(1) aonly (2) "a,bandconly
(3) canddonly

(4) a,b,candd
2018 w8gorag S8 SrI5TE) 0 2I0NS Karden

a) &) 250N
) =ArEIST Shora

(1) adregad

(3) cXobosw d S

b) 3Bs® 2o
d) ©o& 8 & 0885
(2) a,bSodasm ¢ S

. (4) a,b,cSobasw d
- -199. Expand KISG

- (1) KheloIntemational School Games ~ (2) Khelo Indoor Sch
 (3) KheloIndiaSchool Games ciGel Games

(4) Khelo Inter School Games
. KISG Q 23800 | '
() BORLRNE S Sasy - (D) BS w066 sy S ASy
0 QR B w0l S &35, (4 BS 2008 b S ASy

20(?,? !The nan'fe of t}.ua Thai foot b team which was trapped in a cave in June 2018
" (1) Wild Alligators - (2) Wild Sharks
; (3) Wild Leopards S (4) Wild Boars
":%_5-2018 S® 2.8 Ky |
() 3¢ deteg
A DT S =& S
@ agesg e

__.--"'"" .
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